
 

Double integral in polar coordinates 50
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Doubleintegral of f over R r t a r b c o d in

polar coordinates is
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where f r is the simplified notation faf 860 ratio

Remark This is a specialcase ofthe changeofvariablesfamala
The extra factor r in the integrand is in fact

r I the Jacobiandeterminant of the changeofvariables
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Much easier than before

egB Convert integrals betweenCartesianand Polar coordinates
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Remark r is notreally a function of all it should

be regardedas a levelset
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whichhas a critical point at g 10,0 770,0 8

on the level set Onecannot apply ImplicitFunctionTheorem
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egl6 let z 92 25 be a functiondefined on
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The graph of Z is the upper
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average height of the hemisphere
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egit Improper integral
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